GCSE Intermediate Shape and Space Revision


1.
The diagram shows a metal box. The box is a cuboid.
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a
Work out the volume, in m3, of the box.

Shiftem deliver these boxes in the UK. They charge £28.85 for each m3 of a box's volume.
b
Work out Shiftem's charge for delivering one of these boxes.

The weight of a box is 0.125 tonnes.

c
Write 0.125 tonnes in kg.

Le Goff deliver these boxes to Paris. They charge 7.92 French francs for each kg.

d
Work out Le Goff's charge, in French francs, for delivering one of these boxes.

Le Goff deliver 50 of these boxes to Paris. £1 = 8.85 French francs.

e
Work out Le Goff's charge, in £, for delivering the 50 boxes. Give your answer correct to the nearest £.
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2.
a
The diagram shows a quadrilateral
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Work out the size of the angle marked aº.

b
The diagram shows a regular hexagon.
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Work out the size of the angle marked bº.

c
The diagram shows a regular octagon.
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Work out the size of the angle marked cº.
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3.
Calculate the length of AB.
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Give your answer correct to 1 decimal place.
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4.
Sidney places the foot of his ladder on horizontal ground and the top against a vertical wall. The ladder is 16 feet long.

The foot of the ladder is 4 feet from the base of the wall.
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a
Work out how high up the wall the ladder reaches.


Give your answer to 3 significant figures.

b
Work out the angle the base of the ladder makes with the ground.
Give your answer to 3 significant figures.
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5.
The diagram shows part of a distance/time graph for a bus after if had left a bus stop.
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a
Use the graph to find the distance the bus travelled in the first 20 seconds after it had left the bus stop.

b
Describe fully the journey of the bus represented by the parts AB,BC and CD of the graph.
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Total = 29

Answers :

1.
a)   3 × 2 × 0.5 = 3 

                 (F)

b)   "3" × 25.85 = 77.55
                             (F)

c)   0.125 × 1000 = 125

                  (F)

d)   "125" × 7.92 = 990

                 (E)

e)   "990" × 50 (= 49500)

      "49500" ÷ 8.85 (= 5593.220...) = 5593 (C)
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2.
a)
360 - (120 + 85 + 93)


360 -298 = 62

b)
360 ÷ 6 = 60

c)    90 + 45, 180 - 45 or 3 × 45 or 2 × 67.5 = 135
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3.
((182 - 122) = 13.4
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4.
a) [image: image8.wmf](
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= 15.5

b) cos angle = 4/16; angle = 75.5º
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5.
a) 88 m

b) AB constant speed

    BC gradually slowing down

    CD stationary.
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Total = 29
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